44.52:
a) The baryon number is 0, the charge is 
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, the strangeness is 1, all lepton numbers are zero, and the particle is 
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 b) The baryon number is 0, the charge is , the strangeness is 0, all lepton numbers are zero, and the particle is 
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 c) The baryon numbers is –1, the charge is 0, the strangeness is zero, all lepton numbers are 0, and the particle is an antineutron. d) The baryon number is 0, the charge is , the strangeness is 0, the muonic lepton number is –1, all other lepton numbers are 0, and the particle is 
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